EARAROBREBRT —5 XN—ZXBISH—F

202211848 (&) 170EMH4H

B2 s5x%3mt

‘(fﬁ} W ‘I%EH?’JFE‘?] N I

[AE%] 17%&:1,300,000  ~ 23%&:520,000 ™  37%&:325,000 "  43&:195,000 @ . 5 3&:130,000 &

FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
N ® LLIFEKE : -1-1- - REmEs (7
A=y LL—R 6 ?;§53?§ 8 1.(2_0).2 1-1-1-1 | 38.4 1 :1233) Eggﬁ{ (Gitio)
R:PVSANIVE B:R— TE FE
. N : -3-4- - thixia (EH)
ST RU—F ok # 5 TS 1.(22(;.5 2-3-4-2 | 38.4 4 :731) 5.0
RFVIZANZN B:00-UYYF o ARG
‘_ N :EII:*;J§5¥ . —5-7)- —_ §ﬁ*ﬂ7§ Em
IS wIHHH— 303 gf 1.(28.7 6-5-2-3 | 38.3 2 (4352) %#1%7— (Gizl:2))
RS/ IVITVN BIAVAFINU— HRRH PIOU—bT7—L
X T—m . 5-6- - WO (FH)
A0 * 8 | A (17.25(1).77) 5-5-6-6 | 38.2 5 (4+613) Lo
RU—FHISIY B2y /H—U— Bittin
S ~ i 5 | EEm 1:21.0 4-4-5-5 |38.7| - 3| 493 | AWEX (@)
XA TV v A 54.0 a1/ () | R
RIALNSRY IR BYF /24 R 3z
~3 N\ — s 6 | HHE= 1:21.1 2-2-3-4 [39.0| - 6 | 445 |FHEA (EH)
6155 b=EBVZILN 54.0 @) 1) |TEEXE
Rib—t€VITS54 b B:h—tV==3Y AR IRFA4T7—A
@ 1—F—@BIEfI
13=zr= 6,(1,5),3,4,2
20—7F— 6,5,1,3,(2,4)
Ja=zr= 6,2,5,1,3,4
4J—F— 6,1,2,5,3,4
@ Ih\R=E
B B 6 160 | | DA K 1-6 1404 5= 1-6 1,120H4 3EE 1-2-6 310/
B s 6 130 2-6 100 R & 6-1 1,180H4 3 6-1-2 2,030
1 300 1-2 260M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



